Balance the following equations. Place the coefficients in the blanks to balance the equation. If the coefficient is I leave it blank.

0, 2 Al\»\ NO

1. N, +

2. & Na+ X HO-> & NaOH+ _ H,

3. 4 K+ @ mo-> & KOH+  H,

4. NaOH+  HCI->  NaCl+  H0O

S. /.l.\mowo.m + lewo > &) Fe(QH) |

6. NaCO; + 4 W0 > _o NaOH + ___ HCOs
7. 4B+ T 0> 2 B0,

8. A SbCL+ __BHS > ShS; + /o HCI

0. _F WO+ __ P0s> _J HPO,

10._ ¢} NaOH + HS >  NaS+ & 0
:.f.lom|m@ + T HO> __ Fe0s+ _3 H

12 of KPO, + 3 MgClh = __ Mgy(POy), + |MIWQ
13. of _CrCl, + __ 80, > Cr(SO)s + _(p HCI
4_3J Cu0+ o N> _3 Cu+ 5 HO+ N,
15._&. PbNOs), > _ < PbO + zm\l\i NO, + 0,

16 _ALOs+_3 C+_3 Ch>_F co+ KX Al

17 R Al+ o HPO, > 9 H,+ _R2 APO,

18. Aly(SOy); + £ NgBro k.muﬁma + 5 (NH,),SO0,

19. Ca(POY), + _3 HS80, > _J  CaSOy + __ 4 HPO,

20._ 3 BaBr, + < NasPO, > Bay(POy), + (, NaBr

21. Ca3(PO); + bM%om + l_\.uh,o > L P+ J CaSiO; + M,oo
22. ~J Hg(QH), + _of H:PO, > _ Hg(POy; + L 8o |
23.__ NayCO;+_ ¢ HCl> _ o/ NaCl+____H,0+___ CO,

4. 4 P+ 5 0,5 2 PO




